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T = Temperament (1=very calm/gentle, 2=nervous, yet workable, 3= aggitated, bumping, attempting to sting)                           

C = Comb stability (1=still on combs, 2= disturbed yet covering combs, 3=exposing brood, dripping, parading)                            

B = Area of comb used for brood (0.25 increments, ie. 3 frames with 1/4 of each side in use =  1.5 frames)                                   

P = Laying pattern (1= very few misses, prolific, 2=occasional miss, average layer, 3= shotgun, scant)                                             

M = Mite count per 1/2 cup of bees,   W = total colony weight,  H = # combs harvested,  X = Found unmarked
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